

## REVERSED VERSIONS OF ACZÉL-TYPE INEQUALITY AND BELLMAN-TYPE INEQUALITY

JING-FENG TIAN AND WEN-LI WANG

(Communicated by J. Pečarić)

*Abstract.* In this note, using the method of Farid et al. (2010) [G. Farid, J. Pečarić, Atiq Ur Rehman, On Refinements of Aczél’s, Popoviciu, Bellman’s Inequalities and Related Results, *J. Inequal. Appl.* **2010** (2010), Article ID 579567], some reversed versions of Aczél-type inequality and Bellman-type inequality proposed by Farid, Pečarić and Ur Rehman are established. The obtained results are the refinements of reversed Aczél-Popoviciu inequality, Aczél-Bjelica inequality and Bellman’s inequality.

### 1. Introduction

The famous Aczél’s inequality, which is of wide application in the theory of functional equations in non-Euclidean geometry, was presented by Aczél [1] as follows.

**THEOREM A.** *Let  $n$  be a fixed positive integer, and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be real numbers such that  $A^2 - \sum_{i=1}^n a_i^2 > 0$  and  $B^2 - \sum_{i=1}^n b_i^2 > 0$ . Then*

$$\left(A^2 - \sum_{i=1}^n a_i^2\right) \left(B^2 - \sum_{i=1}^n b_i^2\right) \leq \left(a_1 b_1 - \sum_{i=2}^n a_i b_i\right)^2. \quad (1)$$

Later in 1959 Popoviciu [6] gave a generalization of the above inequality in the following theorem.

**THEOREM B.** *Let  $n$  be a fixed positive integer, let  $p > 1, q > 1, \frac{1}{p} + \frac{1}{q} = 1$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be nonnegative real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^q - \sum_{i=1}^n b_i^q > 0$ . Then*

$$\left(A^p - \sum_{i=1}^n a_i^p\right)^{\frac{1}{p}} \left(B^q - \sum_{i=1}^n b_i^q\right)^{\frac{1}{q}} \leq AB - \sum_{i=1}^n a_i b_i, \quad (2)$$

which is called as Aczél-Popoviciu inequality.

In 1982, Vasić and Pečarić [9] presented the following reversed version of Aczél-Popoviciu inequality (2).

*Mathematics subject classification* (2010): Primary 26D15; Secondary 26D10.

*Keywords and phrases:* Reversed version, Aczél-type inequality, Bellman-type inequality, Aczél-Popoviciu inequality, Aczél-Bjelica inequality.

This work was supported by the NNSF of China (No. 61073121) and the Fundamental Research Funds for the Central Universities (No. 13ZD19).

**THEOREM C.** Let  $n$  be a fixed positive integer, let  $p < 1$  ( $p \neq 0$ ),  $\frac{1}{p} + \frac{1}{q} = 1$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be positive numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^q - \sum_{i=1}^n b_i^q > 0$ . Then

$$\left(A^p - \sum_{i=1}^n a_i^p\right)^{\frac{1}{p}} \left(B^q - \sum_{i=1}^n b_i^q\right)^{\frac{1}{q}} \geq AB - \sum_{i=1}^n a_i b_i, \quad (3)$$

which is called as Aczél-Vasić-Pečarić inequality.

In 1990, Bjelica [3] obtained an interesting Aczél-type inequality as follows.

**THEOREM D.** Let  $n$  be a fixed positive integer, let  $0 < p \leq 2$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be nonnegative real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^p - \sum_{i=1}^n b_i^p > 0$ . Then

$$\left(A^p - \sum_{i=1}^n a_i^p\right)^{\frac{1}{p}} \left(B^p - \sum_{i=1}^n b_i^p\right)^{\frac{1}{p}} \leq AB - \sum_{i=1}^n a_i b_i, \quad (4)$$

which is called as Aczél-Bjelica inequality.

Bellman inequality [2] related with Aczél's inequality is stated as follows.

**THEOREM E.** Let  $n$  is a fixed positive integer, and let  $a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be positive numbers such that  $a_1^p - \sum_{i=2}^n a_i^p > 0$  and  $b_1^q - \sum_{i=2}^n b_i^q > 0$ . If  $p \geq 1$  (or  $p < 0$ ), then

$$\left[\left(a_1^p - \sum_{i=2}^n a_i^p\right)^{\frac{1}{p}} + \left(b_1^p - \sum_{i=2}^n b_i^p\right)^{\frac{1}{p}}\right]^p \leq (a_1 + b_1)^p - \sum_{i=2}^n (a_i + b_i)^p; \quad (5)$$

If  $0 < p < 1$ , then the reverse inequality is valid.

**REMARK 1.1.** The case  $p \geq 1$  of Theorem E was given by Bellman [2]. The cases  $0 < p < 1$  and  $p < 0$  were proved in [9] by Vasić and Pečarić.

In 2010, Farid, Pečarić and Ur Rehman [5] established some interesting refinements of (2), (3), (4), and (5) as follows.

**THEOREM F.** Let  $n$  and  $j$  be fixed positive integers with  $1 \leq j < n$ , let  $1 < p \leq 2$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be nonnegative real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^p - \sum_{i=1}^n b_i^p > 0$ . Then

$$\begin{aligned} & \left(A^p - \sum_{i=1}^n a_i^p\right)^{\frac{1}{p}} \left(B^p - \sum_{i=1}^n b_i^p\right)^{\frac{1}{p}} \\ & \leq \alpha\beta - \left(\sum_{i=k+1}^n a_i^p\right)^{\frac{1}{p}} \left(\sum_{i=k+1}^n b_i^p\right)^{\frac{1}{p}} \\ & \leq \alpha\beta - \sum_{i=k+1}^n a_i b_i \\ & \leq AB - \sum_{i=1}^n a_i b_i, \end{aligned} \quad (6)$$

where  $\alpha = (A^p - \sum_{i=1}^k a_i^p)^{\frac{1}{p}}$ ,  $\beta = (B^p - \sum_{i=1}^k b_i^p)^{\frac{1}{p}}$ .

**THEOREM G.** Let  $n$  and  $j$  be fixed positive integers with  $1 \leq j < n$ , let  $p > 1$ ,  $q > 1$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be nonnegative real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^q - \sum_{i=1}^n b_i^q > 0$ . Then

$$\begin{aligned} & \left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( B^q - \sum_{i=1}^n b_i^q \right)^{\frac{1}{q}} \\ & \leq \alpha \tilde{\beta} - \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=k+1}^n b_i^q \right)^{\frac{1}{q}} \\ & \leq \alpha \tilde{\beta} - \sum_{i=k+1}^n a_i b_i \\ & \leq AB - \sum_{i=1}^n a_i b_i, \end{aligned} \tag{7}$$

where  $\alpha = (A^p - \sum_{i=1}^k a_i^p)^{\frac{1}{p}}$ ,  $\tilde{\beta} = (B^q - \sum_{i=1}^k b_i^q)^{\frac{1}{q}}$ .

**THEOREM H.** Let  $n$  and  $j$  be fixed positive integers with  $1 \leq j < n$ , let  $p \geq 1$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be nonnegative real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^p - \sum_{i=1}^n b_i^p > 0$ . Then

$$\begin{aligned} & \left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} + \left( B^p - \sum_{i=1}^n b_i^p \right)^{\frac{1}{p}} \\ & \leq \left\{ (\alpha + \beta)^p - \left[ \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} + \left( \sum_{i=k+1}^n b_i^p \right)^{\frac{1}{p}} \right]^p \right\}^{\frac{1}{p}} \\ & \leq \left[ (\alpha + \beta)^p - \sum_{i=k+1}^n (a_i + b_i)^p \right]^{\frac{1}{p}} \\ & \leq \left[ (A + B)^p - \sum_{i=1}^n (a_i + b_i)^p \right]^{\frac{1}{p}}, \end{aligned} \tag{8}$$

where  $\alpha = (A^p - \sum_{i=1}^k a_i^p)^{\frac{1}{p}}$ ,  $\beta = (B^p - \sum_{i=1}^k b_i^p)^{\frac{1}{p}}$ .

Moreover, in 2012, Tian [7] presented the reversed version of Aczél-Bjelica inequality (4) as follows.

**THEOREM I.** Let  $n$  be a fixed positive integer, let  $p < 0$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be positive real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^p - \sum_{i=1}^n b_i^p > 0$ . Then

$$\left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( B^p - \sum_{i=1}^n b_i^p \right)^{\frac{1}{p}} \geq AB - \sum_{i=1}^n a_i b_i. \tag{9}$$

In this note, using the method of Farid, Pečarić and Ur Rehman [5], we obtain the reversed versions of inequalities (6), (7) and (8). The obtained results are the refinements of reversed Aczél-Popoviciu inequality, Aczél-Bjelica inequality and Bellman's inequality.

## 2. Reversed versions of Aczél-type inequality and Bellman-type inequality

LEMMA 2.1. [8] *If  $b_i > 0$  ( $i = 1, 2, \dots, n$ ), and  $p < 0 < q$ , then*

$$\left( \sum_{i=1}^n b_i^p \right)^{\frac{1}{p}} \leq \left( \sum_{i=1}^n b_i^q \right)^{\frac{1}{q}}. \quad (10)$$

LEMMA 2.2. (Generalized Hölder's inequality) [8] *Let  $a_i, b_i > 0$  ( $i = 1, 2, \dots, n$ ).*

(a) *If  $p, q > 0$ , and  $\frac{1}{p} + \frac{1}{q} \geq 1$ , then*

$$\sum_{i=1}^n a_i b_i \leq \left( \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=1}^n b_i^q \right)^{\frac{1}{q}}. \quad (11)$$

(b) *If  $p < 0$ ,  $q > 0$ , and  $\frac{1}{p} + \frac{1}{q} \leq 1$ , then*

$$\sum_{i=1}^n a_i b_i \geq \left( \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=1}^n b_i^q \right)^{\frac{1}{q}}. \quad (12)$$

(c) *If  $p, q < 0$ , then*

$$\sum_{i=1}^n a_i b_i \geq \left( \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=1}^n b_i^q \right)^{\frac{1}{q}}. \quad (13)$$

LEMMA 2.3. [7] *Let  $n$  be a fixed positive integer, let  $p < 0$ ,  $q > 0$ ,  $\frac{1}{p} + \frac{1}{q} \leq 1$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be positive real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^q - \sum_{i=1}^n b_i^q > 0$ . Then*

$$\left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( B^q - \sum_{i=1}^n b_i^q \right)^{\frac{1}{q}} \geq AB - \sum_{i=1}^n a_i b_i. \quad (14)$$

Nextly, we give the reversed version of inequality (6), i. e., a new refinement of inequality (9).

THEOREM 2.4. *Let  $n$  and  $j$  be fixed positive integers with  $1 \leq j < n$ , let  $p < 0$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be positive real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$*

and  $B^p - \sum_{i=1}^n b_i^p > 0$ . Then

$$\begin{aligned} & \left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( B^p - \sum_{i=1}^n b_i^p \right)^{\frac{1}{p}} \\ & \geq \alpha\beta - \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=k+1}^n b_i^p \right)^{\frac{1}{p}} \\ & \geq \alpha\beta - \sum_{i=k+1}^n a_i b_i \\ & \geq AB - \sum_{i=1}^n a_i b_i, \end{aligned} \tag{15}$$

where  $\alpha = (A^p - \sum_{i=1}^k a_i^p)^{\frac{1}{p}}$ ,  $\beta = (B^p - \sum_{i=1}^k b_i^p)^{\frac{1}{p}}$ .

*Proof.* By using inequality (9) we have

$$\alpha\beta \geq AB - \sum_{i=1}^k a_i b_i. \tag{16}$$

If we denote  $C = (\sum_{i=k+1}^n a_i^p)^{\frac{1}{p}}$ ,  $D = (\sum_{i=k+1}^n b_i^p)^{\frac{1}{p}}$ , then applying inequality (9) with  $n = 1$ , we have

$$\begin{aligned} & \left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( B^p - \sum_{i=1}^n b_i^p \right)^{\frac{1}{p}} \\ & = (\alpha^p - C^p)^{\frac{1}{p}} (\beta^p - D^p)^{\frac{1}{p}} \\ & \geq \alpha\beta - CD \\ & = \alpha\beta - \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=k+1}^n b_i^p \right)^{\frac{1}{p}}. \end{aligned} \tag{17}$$

On the other hand, from Lemma 2.1 for  $p < 0 < q$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ , and using generalized Hölder’s inequality (12) we get

$$\left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=k+1}^n b_i^p \right)^{\frac{1}{p}} \leq \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=k+1}^n b_i^q \right)^{\frac{1}{q}} \leq \sum_{i=k+1}^n a_i b_i. \tag{18}$$

Therefore, combining (16), (17) and (18) yields immediately the desired inequality (15).  $\square$

**REMARK 2.5.** Farid, Pečarić and Ur Rehman [5] obtained the inequality (6) for  $1 < p \leq 2$ . In fact, the inequality is also valid for  $0 < p \leq 2$ . Similar to the proof of the inequality (6) for  $1 < p \leq 2$  in [5] but using (11) in place of Hölder’s inequality, we immediately obtain the inequality (6) for  $0 < p \leq 2$ .

Now, we present the reversed version of inequality (7), i.e., a new refinement of Aczél-Vasić-Pečarić inequality (3).

**THEOREM 2.6.** *Let  $n$  and  $j$  be fixed positive integers with  $1 \leq j < n$ , let  $p < 1$ ,  $p \neq 0$ ,  $\frac{1}{p} + \frac{1}{q} \leq 1$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be positive real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^q - \sum_{i=1}^n b_i^q > 0$ . Then*

$$\begin{aligned}
 & \left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( B^q - \sum_{i=1}^n b_i^q \right)^{\frac{1}{q}} \\
 & \geq \alpha \tilde{\beta} - \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=k+1}^n b_i^q \right)^{\frac{1}{q}} \\
 & \geq \alpha \tilde{\beta} - \sum_{i=k+1}^n a_i b_i \\
 & \geq AB - \sum_{i=1}^n a_i b_i,
 \end{aligned} \tag{19}$$

where  $\alpha = (A^p - \sum_{i=1}^k a_i^p)^{\frac{1}{p}}$ ,  $\tilde{\beta} = (B^q - \sum_{i=1}^k b_i^q)^{\frac{1}{q}}$ .

*Proof.* From Lemma 2.3 we have

$$\alpha \tilde{\beta} \geq AB - \sum_{i=1}^k a_i b_i. \tag{20}$$

If we denote  $C = (\sum_{i=k+1}^n a_i^p)^{\frac{1}{p}}$ ,  $\tilde{D} = (\sum_{i=k+1}^n b_i^q)^{\frac{1}{q}}$ , then by applying Lemma 2.3, for  $n = 1$ , we obtain

$$\begin{aligned}
 & \left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} \left( B^q - \sum_{i=1}^n b_i^q \right)^{\frac{1}{q}} \\
 & = (\alpha^p - C^p)^{\frac{1}{p}} (\tilde{\beta}^q - \tilde{D}^q)^{\frac{1}{q}} \\
 & \geq \alpha \tilde{\beta} - C \tilde{D} \\
 & = \alpha \tilde{\beta} - \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=k+1}^n b_i^q \right)^{\frac{1}{q}}.
 \end{aligned} \tag{21}$$

Moreover, using generalized Hölder’s inequality (12) we get

$$\left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} \left( \sum_{i=k+1}^n b_i^q \right)^{\frac{1}{q}} \leq \sum_{i=k+1}^n a_i b_i. \tag{22}$$

Combining (20), (21) and (22) yields immediately the desired result.  $\square$

Finally, we give the reversed version of inequality (8), i.e., a new refinement of reversed Bellman inequality.

**THEOREM 2.7.** *Let  $n$  and  $j$  be fixed positive integers with  $1 \leq j < n$ , let  $0 < p < 1$ , and let  $A, B, a_i, b_i$  ( $i = 1, 2, \dots, n$ ) be positive real numbers such that  $A^p - \sum_{i=1}^n a_i^p > 0$  and  $B^p - \sum_{i=1}^n b_i^p > 0$ . Then*

$$\begin{aligned} & \left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} + \left( B^p - \sum_{i=1}^n b_i^p \right)^{\frac{1}{p}} \\ & \geq \left\{ (\alpha + \beta)^p - \left[ \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} + \left( \sum_{i=k+1}^n b_i^p \right)^{\frac{1}{p}} \right]^p \right\}^{\frac{1}{p}} \\ & \geq \left[ (\alpha + \beta)^p - \sum_{i=k+1}^n (a_i + b_i)^p \right]^{\frac{1}{p}} \\ & \geq \left[ (A + B)^p - \sum_{i=1}^n (a_i + b_i)^p \right]^{\frac{1}{p}}, \end{aligned} \tag{23}$$

where  $\alpha = (A^p - \sum_{i=1}^k a_i^p)^{\frac{1}{p}}$ ,  $\beta = (B^p - \sum_{i=1}^k b_i^p)^{\frac{1}{p}}$ .

*Proof.* By using Bellman’s inequality (5), we have

$$\alpha + \beta \geq \left[ (A + B)^p - \sum_{i=1}^k (a_i + b_i)^p \right]^{\frac{1}{p}}. \tag{24}$$

If we denote  $C = (\sum_{i=k+1}^n a_i^p)^{\frac{1}{p}}$ ,  $D = (\sum_{i=k+1}^n b_i^p)^{\frac{1}{p}}$ , then using Bellman’s inequality (5) for  $n = 1$ , we have

$$\begin{aligned} & \left( A^p - \sum_{i=1}^n a_i^p \right)^{\frac{1}{p}} + \left( B^p - \sum_{i=1}^n b_i^p \right)^{\frac{1}{p}} \\ & = (\alpha^p - C^p)^{\frac{1}{p}} + (\beta^p - D^p)^{\frac{1}{p}} \\ & \geq [(\alpha + \beta)^p - (C + D)^p]^{\frac{1}{p}} \\ & = \left\{ (\alpha + \beta)^p - \left[ \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} + \left( \sum_{i=k+1}^n b_i^p \right)^{\frac{1}{p}} \right]^p \right\}^{\frac{1}{p}}. \end{aligned} \tag{25}$$

Moreover, by using Minkowski inequality with  $0 < p < 1$ , we get

$$\left[ \left( \sum_{i=k+1}^n a_i^p \right)^{\frac{1}{p}} + \left( \sum_{i=k+1}^n b_i^p \right)^{\frac{1}{p}} \right]^p \leq \sum_{i=k+1}^n (a_i + b_i)^p. \tag{26}$$

Combining (23), (24) and (25) yields immediately the desired result.  $\square$

**REMARK 2.8.** Farid, Pečarić and Ur Rehman [5] obtained the inequality (8) for  $p \geq 1$ . In fact, inequality (8) is also valid for  $p < 0$ . Similar to the proof of the inequality (8) under the assumption  $p \geq 1$  in [5], it is easy to obtain the inequality (8) for  $p < 0$ .

*Acknowledgements.* The authors would like to express hearty thanks to the anonymous referees for their making great efforts to improve this paper.

## REFERENCES

- [1] J. ACZÉL, *Some general methods in the theory of functional equations in one variable, New applications of functional equations*, Uspehi. Mat. Nauk (N. S.) **11**, 3 (1956), 3–68 (in Russian).
- [2] R. BELLMAN, *On an inequality concerning an indefinite form*, Amer. Math. Monthly **63** (1956), 108–109.
- [3] M. BJELICA, *On inequalities for indefinite form*, Anal. Numer. Theor. Approx. **19**, 2 (1990), 105–109.
- [4] J. L. DÍAZ-BARRERRO, M. GRAU-SÁNCHEZ, P. G. POPESCU, *Refinements of Aczél, Popoviciu and Bellman's inequalities*, Comput. Math. Appl. **56** (2008), 2356–2359.
- [5] G. FARID, J. PEČARIĆ, ATIQ UR REHMAN, *On Refinements of Aczél's, Popoviciu, Bellman's Inequalities and Related Results*, J. Inequal. Appl. **2010** (2010), Article ID 579567, doi: 10.1155/2010/579567.
- [6] T. POPOVICIU, *On an inequality*, Gaz. Mat. Fiz. Ser. A **11**, 64 (1959), 451–461 (in Romanian).
- [7] J. TIAN, *Reversed version of a generalized Aczél's inequality and its application*, J. Inequal. Appl. **2012** (2012): 202.
- [8] P. M. VASIĆ, J. E. PEČARIĆ, *On the Jensen inequality for monotone functions*, An. Univ. Timișoara Ser. Șt. Matematiche **17**, 1 (1979), 95–104.
- [9] P. M. VASIĆ, J. E. PEČARIĆ, *On Hölder and some related inequalities*, Mathematica Rev. D'Anal. Num. Th. L'Approx. **25** (1982), 95–103.

(Received April 29, 2014)

Jing-Feng Tian  
College of Science and Technology  
North China Electric Power University  
Baoding, Hebei Province, 071051, P. R. China  
e-mail: tianjfhxmncepu@aliyun.com

Wen-Li Wang  
Department of Information Engineering  
China University of Geosciences  
Baoding 071000, P. R. China  
e-mail: emilyzh@163.com